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Fractional Exponents Regents Practice

1. Given y = 0, the expression V'r ity . 1}27‘1:33;2 is equivalent to
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2. The expression is equivalent to
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3. Which equation is equivalent to # = 210x ’ y ?
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4. For x = 0, which equation is false?
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5. For x = 0, which expressions are equivalent to one divided by the sixth root of x?
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Express the following in simplest form, with a rational exponent.
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Express the following in simplest radical form:
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Determine the value of n in each of the following equations:
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17. Kenzie believes that for x = 0, the expression [?«.n' x ] [5«4' x ] is equivalent to 2 x% . Is she

correct? Justify your response algebraically.
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18. Justify why is equivalent to x . ¥ ? using properties of rational exponents, where
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x=0and y=0.
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19. For n and p > 0, is the expression | p*# : AJp°nt equivalent to px" ,JE? Justify your

answer.
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